
©1 Z2x0F114S xKouttVan BSAoyfEt3wyaKrveR BLuLzCR.F u hAElIlK 7rHiVgLhFtisC irJecsFeXrJvxe8dW.i f hMwaZd7ea pwriothhj yIknzfxi4nciPtcex aAHlXgge3bnrNaV r2h.W Worksheet by Kuta Software LLC

Algebra 2 Name___________________________________

  Period____Date________________
©P k2o0K1y4d dK6uVtda3 CS1oVf2tWwja2r2eo uLpLkCG.W d xAQlvlN MrpiRgDh2tasA Zrge6s4eTrrv9eDdj.y

Operations with Rational Expressions Review

Simplify each expression.

1)  

  

6

   

n + 1
 + 

 

3

   

n − 1
2)  

  

5

  

n

   

n + 6
 + 

 

5

  

n

 

2

  

n − 1

3)  

  

6

4
 − 

     

n + 4

   

n − 2
4)  

  

2

  

x

 

3

  

x + 3
 − 

  

3

 

2

  

x − 5

5)  

  

6

  

a

   

a + 4
 + 

 

4

  

a

 

4

  

a2
 − 12

  

a
6)  

  

6

 

3

  

b − 2
 + 

 

5

  

b

   

b − 1

Simplify each and state the excluded values.
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Graph each function.
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Answers to Operations with Rational Expressions Review
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